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W ATWEIIRTESG HEE 36 %1 FHED WML ATWMEBILATRAB AL 51 % NI
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T £ S =

T H FEEM | B | & E % A B £ FEEH | B L | B HE Z 1B
T 4 @ 200 g 118 86 | /NI RIHA FORR L 5 ke 4, 860 -
LA = B 250 g 108 — | 2n5B 5 & 10 ke 4, 860 2, 160
TES = [ 200 g 129 86 || sk £ B 10 ke 5, 940 4,536
EONAED = R 200 g 194 129 | it = R 10 ke 4, 860 2, 160
ELES = R 8 ke 3, 024 — || N A — — — —
LwAE< = B 150 g 129 86 | JIREAE AR L 7.5 ke 3, 780 1, 404

— — — — — | El& E B 350 g 594 518

ANV b¥EE 10 ke 1,728 — 1 <9 7 5 ke 6, 480 4, 860
PFAFEIZ A LA bygia 10 ke 2, 160 1,512 | WH L = B 400 g 324 216
iE< &EW B B 15 ke 1, 458 1,134 | 77— RAB Y GRS -8 ke 5, 940 —
X p XY FiE S 10 ke 1, 080 972 |
LH A £ B 10 ke 1, 620 972
XwwH Y i S 5 ke 2, 700 —
Ach = B 5 ke 1, 836 972
< k I 4 ke 2, 700 -
P = F 150 g 129 75
JEh Lok AbigE 10 ke 1, 404 1, 296
TmEn&E It = 10 ke 1, 620 1,512
A LWz m 5 100 g 172 145
ESSY AP as 1 ke| 21,600 8, 640
LDl £ B 100 g 64 54




ABR RSP REEH SRR 9” 28R m & Kk EH R EEKE 44 ¢t

WEW . ATFEIEATBEISE AL 10 %8 Fbib [f/ 27 t ] [ 7t ) [EF+ 10 t ]
| AL (BiARY)
fif y=<t 12} | +

A B EEEM | B L | B & % & TS H FEEM | B | & FE | ® E
AFE AL KIEE 1 ke 1,728 — | | F U 1 ke 3, 024 1, 080
BE A R 1 ke 1, 263 — | YN I x— 1ke 1,296 540
7Y & & 1ke 1,803 216 | # 5= = 1 kg 2, 160 1, 080
VRS AHE L 1 kg 2,376 324 | A& | FAERL 1 ke 1,404 | = —
LT T 1 ke 583 270 | FURAL B E 1 ke 4, 860 1, 188
AN A A T IR 1 ke 1,242 453 | BT < AbiEE 1% 248" 54
TE N F " 5 1 kg 1,728 162 |
{E&A T OIR 1ke 1,728 540
1& & = & 1ke | 2,376 1, 620
INTE T OIE 1ke 1,944 108
THY g St " 1lke 1, 944 540
FA T Kk & 1 ke 4, 320 1,998 |
A7 B OB 1ke 1, 458 378
&7 BEIRE 1 ke 2, 106 972 -




